112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 NS: SIEER 8130 GH0) -4 4 NS: HHHEEE E(2{E(FAC) -18 15.50 : 4.50 | Total VP: 34.64 Rank:
EW: BEEISZ FREEAC) 18 EW: MER %EIR(FO) 4 IMP:| 16 : 0 4
__ - -
# 17 T 1NS2 120 Mean: 3NS4 430 80 1 |[# 18 s J9 1NE2 -120 Mean: 3HS3 140 40 1
v 632 2NS2120 80  4DN4 130 2.0 1 v 96 3SE3-140 10  3HN3 140 40 1
¢ T6432 Dif: 0 NS:1 2DN4 130 2.0 1 + AQJ5 Dif: 20 NS:-4 4SE-2 100 30 1
& AJT7 IMP: 0 EW:-1  3SW-2 100 1.0 2 & AK943 IMP: 1 EW:4 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2sW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 450 Mean: 4SXE-2 500 50 1 ||#20 » 854 2DW-3 300 Mean: 3NS4 630 9.0 2
v A9 5CS5400 300 4HS6 480 50 3 v KQT5 2HN3 140 260  3NS3 600 8.0 1
« AT9872 Dif: 50 NS:4 4HS5 450 40 5 ¢ T83 Dif: 160 NS:1  4DW-4 400 4.0 1
& K762 IMP: 2 EW:-3 5CS5 400 30 1 & AK2 IMP: 4 EW:3 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 + v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE4 -420 Mean: 5SE-1 50 100 1 # 22 & AT973 4SN-1 -50 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 4SS-1-50 20  3SS3 140 30 1
+ A53 Dif: 30 NS:-1 4SE4 420 1.0 2 + AT4 Dif: 0 NS:-2 3SN3 140 30 3
» J52 IMP: 1 EW:2 5SE5 450 20 1 » T54 IMP: 0 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~ 3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ &73
W ~~~42 W 343~~
# 23 » 32 2CE-1100 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HS-1-50 Mean: 4HN4 420 8.0 1
v J765 2CE3 -110 110  3NW-3 300 50 1 v QJ852 3SW3 -140 60 5CXE-2 300 60 1
+ QJ94 Dif: 210 NS:0 3CE-2 200 30 1 ¢ T82 Dif: 90 NS:-3 3HS3 140 20 1
& A92 IMP: 5 EW:6 2NE-2 200 30 1 & A IMP: 3 EW:5 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

2 NS: SR5A8 F$HEREAO) 23 6 NS: BRE37 B33 (BAC) 8 1468 : 5.32 | Total VP: 35.54 Rank:
EW: M BUE S5EEEAC) -8 EW: FRZE%T #iEXAR(BAO) -2 IMP:| 16 : 3 3
__ - - —
# 17 T 3SW-2100 Mean: 3NS4 430 80 1 |[# 18 s J9 4SE-2 100 Mean: 3HS3 140 40 1
v 632 1NS2120 80  4DN4 130 2.0 1 v 96 3SE-150 10  3HN3 140 40 1
¢ T6432 Dif: 20 NS:1  2DN4 130 2.0 1 + AQJ5 Dif: 50 NS:3 4SE-2 100 30 1
& AJT7 IMP: -1 EW:-1  3SW-2 100 1.0 2 & AK943 IMP: 2 EW:-1 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2sW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 450 Mean: 4SXE-2 500 50 1 ||#20 » 854 3NS4 630 Mean: 3NS4 630 9.0 2
v A9 4HS6 480 300  4HS6 480 50 3 v KQT5 3NS4 630 260 3NS3 600 8.0 1
« AT9872 Dif: -30 NS:4 4HS5 450 40 5 ¢ T83 Dif: 0 NS:9 4DW-4 400 4.0 1
& K762 IMP: -1 EW:-5 5CS5 400 30 1 & AK2 IMP: 0 EW:-9 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 + v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE6 -480 Mean: 5SE-1 50 100 1 # 22 & AT973 3SS4 170 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 4SS-1-50 20  3SS3 140 30 1
+ A53 Dif: -30 NS:-3 4SE4 420 1.0 2 + AT4 Dif: 220 NS:4 3SN3 140 30 3
» J52 IMP: -1 EW:2 5SE5 450 20 1 » T54 IMP: 6 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~ 3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ &73
W ~~~42 W 343~~
# 23 » 32 3CE-2200 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 3HS3 140 Mean: 4HN4 420 8.0 1
v J765 1NN-1-100 110  3NW-3 300 50 1 v QJ852 5CE-2100 60 5CXE-2 300 60 1
+ QJ94 Dif: 300 NS:3 3CE-2 200 30 1 ¢ T82 Dif: 40 NS:2 3HS3 140 20 1
& A92 IMP: 7 EW:5 2NE-2 200 30 1 & A IMP: 1 EW:-1 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

3 NS: PR3 485222(FH0) 11 7 NS: Rt BRHEE(BAC) 1 14.09 : 5.91 Total VP: 30.27 Rank:
EW: HhELNE TREEREAC) -1 EW: EE{_ BRZAE(BRO) -1 IMP:| 22 : 11 7
__ - o
# 17 T 3NS4 430 Mean: 3NS4 430 80 1 |[# 18 s J9 3SE-1 50 Mean: 3HS3 140 40 1
v 632 3SW-2100 80  4DN4 130 2.0 1 v 96 3SE-150 10  3HN3 140 40 1
¢ T6432 Dif: 330 NS:8 2DN4 130 2.0 1 + AQJ5 Dif: 0 NS:1 4SE-2 100 30 1
& AJT7 IMP: 8 EW:-1 3SW-2 100 1.0 2 & AK943 IMP: 0 EW:-1 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS4 420 Mean: 4SXE-2 500 50 1 ||#20 » 854 2HN2 110 Mean: 3NS4 630 9.0 2
v A9 4HS6 480 300  4HS6 480 50 3 v KQT5 2HN2 110 260  3NS3 600 8.0 1
« AT9872 Dif: -60 NS:3 4HS5 450 40 5 ¢ T83 Dif: 0 NS:-4 4DW-4 400 40 1
& K762 IMP: -2 EW:-5 5CS5 400 30 1 & AK2 IMP: 0 EW:4 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE4 -420 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 140 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 4SS-1-50 20  3SS3 140 30 1
+ A53 Dif: 30 NS:-1 4SE4 420 1.0 2 + AT4 Dif: 190 NS:3 3SN3 140 30 3
» J52 IMP: 1 EW:2 5SE5 450 20 1 » T54 IMP: 5 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~ 3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ &73
W ~~~42 W 343~~
# 23 » 32 2CE2 -90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 5CXE-2 300 Mean: 4HN4 420 8.0 1
v J765 3NW-3300 110  3NW-3 300 50 1 v QJ852 4HN-1-50 60 5CXE-2 300 60 1
+ QJ94 Dif: -390 NS:-5 3CE-2 200 30 1 ¢ T82 Dif: 350 NS:6 3HS3 140 20 1
& A92 IMP: -9 EW:-5 2NE-2 200 30 1 & A IMP: 8 EW:3 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

4 NS: i E EFEEEHC) -18 1 NS: SBEUIR 2I32#:(FH0) -4| 4.50 15.50 | Total VP: 30.45 Rank:
EW MEL BEFEEHO) 4 EW: FREISZ E32E(BAC) 1 IMP:| 0 : 16 6
- —
# 17 'y T 1NS2 -120 Mean: 3NS4 430 80 1 |[# 18 s J9 1NE2 120 Mean: 3HS3 140 40 1
v 632 2NS2-120 80  4DN4 130 2.0 1 v 96 3SE3140 10  3HN3 140 40 1
¢ T6432 Dif: 0 NS:1 2DN4 130 2.0 1 + AQJ5 Dif: 20 NS:-4 4SE-2 100 30 1
& AJT7 IMP: 0 EW:-1  3SW-2 100 1.0 2 & AK943 IMP: -1 EW:4 3SXE-1 100 30 1
» J9764 f #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 -450 Mean: 4SXE-2 500 50 1 ||#20 » 854 2DW-3 -300 Mean: 3NS4 630 9.0 2
v A9 5CS5-400 300  4HS6 480 50 3 v KQT5 2HN3 -140 260  3NS3 600 8.0 1
« AT9872 Dif: -50 NS:3 4HS5 450 40 5 ¢ T83 Dif: -160 NS:-3 4DW-4 400 40 1
& K762 IMP: -2 EW:-4 5CS5 400 30 1 & AK2 IMP: -4 EW:-1 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE4 420 Mean: 5SE-1 50 100 1 # 22 & AT973 4SN-1 50 Mean: 3SS4 170 40 1
v K954 4SE5450 -390 3SE3 140 6.0 1 v 84 4SS-150 20  3SS3 140 30 1
+ A53 Dif: -30 NS:-2 4SE4 420 1.0 2 + AT4 Dif: 0 NS:-2 3SN3 140 30 3
» J52 IMP: -1 EW:1 5SE5 450 20 1 » T54 IMP: 0 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE-1-100 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HS-1 50 Mean: 4HN4 420 8.0 1
v J765 2CE3110 110  3NW-3 300 50 1 v QJ852 3SW3 140 60 5CXE-2 300 60 1
+ QJ94 Dif: -210 NS:-6 3CE-2 200 30 1 ¢ T82 Dif: -90 NS:-5 3HS3 140 20 1
& A92 IMP: -5 EW:0 2NE-2 200 30 1 & A IMP: -3 EW:3 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

5 NS: 82 BREFGHO) 1 9 NS: Bk = EERNEE(BAC) -2 11.27 : 8.73 Total VP: 24.18 Rank:
EW: PR =EHE(EAC) 2 EW: 8|72 BR#<F(BR0) -1 IMP:| 18 15 12
__ I -
# 17 T 2SW2 -110 Mean: 3NS4 430 80 1 |[#18 s J9 3HS3 140 Mean: 3HS3 140 40 1
v 632 2HW2 -110 80  4DN4 130 2.0 1 v 96 3SE-150 10  3HN3 140 40 1
¢ T6432 Dif: 0 NS:-5 2DN4 130 2.0 1 ¢ AQJ5 Dif: 90 NS:4 4SE-2 100 30 1
& AJT7 IMP: 0 EW:5 3SW-2 100 1.0 2 & AK943 IMP: 3 EW:-1 3SXE-1 100 30 1
» J9764 # K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
+ Q9 + K85 3NS-1 50 40 1 ||e T987 * K3 4HS-1 100 30 1
» 9853 ~ K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
® VBN 4 AQ2 2sW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 450 Mean: 4SXE-2 500 50 1 ||#20 » 854 2NS4 180 Mean: 3NS4 630 9.0 2
v A9 4HS5450 300 4HS6 480 50 3 v KQT5 2DW-2 200 260 3NS3 600 8.0 1
« AT9872 Dif: 0 NS:4 4HS5 450 40 5 ¢ T83 Dif: 20 NS:-2 4DW-4 400 4.0 1
& K762 IMP: 0 EW:-4 5CS5 400 30 1 & AK2 IMP: -1 EW:2 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 + v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
POV AN oJ2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 3SE3 -140 Mean: 5SE-1 50 100 1 # 22 & AT973 3SS3 140 Mean: 3SS4 170 40 1
v K954 4SE6 -480 -390 3SE3 140 6.0 1 v 84 4CW4 130 20  3SS3 140 30 1
¢ A53 Dif: 340 NS:6 4SE4 420 1.0 2 ¢ AT4 Dif: 270 NS:3 3SN3 140 30 3
» J52 IMP: 8 EW:3 5SE5 450 20 1 » T54 IMP: 7 EW:4 2SS3 140 30 1
» Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
S ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ &73
W ~~~42 W 343~~
# 23 » 32 2CE2 -90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HXS-1 -100 Mean: 4HN4 420 8.0 1
v J765 3NE-4 400 110  3NW-3 300 50 1 v QJ852 4CE-150 60  5CXE-2 300 60 1
* QJ94 Dif: -490 NS:-5 3CE-2 200 30 1 ¢ T82 Dif: -150 NS:-4 3HS3 140 20 1
& A92 IMP: -10 EW:-7 2NE-2 200 30 1 & A IMP: -4 EW:0 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
+ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 + Ka 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
% ¢V BN 4 Q9865 2CE2 9 50 3 F VAN LAT 4HN-1 50 3.0 1
N ~~~~~ v AQT 1NN-1 4100 50 1 |IN ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

6 NS: BRE Sz FESCHREC) 8 2 NS: %&35h#E ZF#EZH(FH0) 23 5.32 14.68 | Total VP: 26.05 Rank:
EW: BEZEHT SEMHABEO) -23 EW: Ep & S EA(BAC) -8 IMP:| 3 : 16 9
__ - o
# 17 T 3SW-2 -100 Mean: 3NS4 430 80 1 |[# 18 s J9 4SE-2 -100 Mean: 3HS3 140 40 1
v 632 1NS2-120 80  4DN4 130 2.0 1 v 96 3SE-1-50 10  3HN3 140 40 1
¢ T6432 Dif: 20 NsS:1 2DN4 130 2.0 1 + AQJ5 Dif: -50 NS:1 4SE-2 100 30 1
& AJT7 IMP: 1 EW:-1  3SW-2 100 1.0 2 & AK943 IMP: -2 EW:-3 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 -450 Mean: 4SXE-2 500 50 1 ||#20 » 854 3NS4 -630 Mean: 3NS4 630 9.0 2
v A9 4HS6 -480 300  4HS6 480 50 3 v KQT5 3NS4 -630 260  3NS3 600 8.0 1
« AT9872 Dif: 30 NS:5 4HS5 450 40 5 ¢ T83 Dif: 0 NS:9 4DW-4 400 40 1
& K762 IMP: 1 EW:-4 5CS5 400 30 1 & AK2 IMP: 0 EW:-9 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE6 480 Mean: 5SE-1 50 100 1 # 22 & AT973 3SS4 -170 Mean: 3SS4 170 40 1
v K954 4SE5450 -390 3SE3 140 6.0 1 v 84 4SS-150 20  3SS3 140 30 1
+ A53 Dif: 30 NS:-2 4SE4 420 1.0 2 + AT4 Dif: -220 NS:-2 3SN3 140 30 3
» J52 IMP: 1 EW:3 5SE5 450 20 1 » T54 IMP: -6 EW:-4 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 3CE-2 -200 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 3HS3 -140 Mean: 4HN4 420 8.0 1
v J765 1NN-1 100 110  3NW-3 300 50 1 v QJ852 5CE-2-100 60 5CXE-2 300 60 1
+ QJ94 Dif: -300 NS:-5 3CE-2 200 30 1 ¢ T82 Dif: -40 NS:1  3HS3 140 20 1
& A92 IMP: -7 EW:-3 2NE-2 200 30 1 & A IMP: -1 EW:-2 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

7 NS: S pRIEEEIC) 1 3 NS: KB £ RZ(FH0) 11 5.91 14.09| Total VP: 24.64 Rank:
EW: =& BEEEEHO) -11 EW: M EE sRiZZE(BAC) 1 IMP:| 11 : 22 1
__ - —
# 17 T 3NS4 -430 Mean: 3NS4 430 80 1 |[# 18 s J9 3SE-1-50 Mean: 3HS3 140 40 1
v 632 3SW-2-100 80  4DN4 130 2.0 1 v 96 3SE-1-50 10  3HN3 140 40 1
¢ T6432 Dif: -330 NS:1 2DN4 130 2.0 1 + AQJ5 Dif: 0 NS:1 4SE-2 100 30 1
& AJT7 IMP: -8 EW:-8 3SW-2 100 1.0 2 & AK943 IMP: 0 EW:-1 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS4 -420 Mean: 4SXE-2 500 50 1 ||#20 » 854 2HN2 -110 Mean: 3NS4 630 9.0 2
v A9 4HS6 -480 300  4HS6 480 50 3 v KQT5 2HN2 -110 260  3NS3 600 8.0 1
« AT9872 Dif: 60 NS:5 4HS5 450 40 5 ¢ T83 Dif: 0 NS:-4 4DW-4 400 40 1
& K762 IMP: 2 EW:-3 5CS5 400 30 1 & AK2 IMP: 0 EW:4 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE4 420 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 -140 Mean: 3SS4 170 40 1
v K954 4SE5450 -390 3SE3 140 6.0 1 v 84 4SS-150 20  3SS3 140 30 1
+ A53 Dif: -30 NS:-2 4SE4 420 1.0 2 + AT4 Dif: -190 NS:-2 3SN3 140 30 3
» J52 IMP: -1 EW:1 5SE5 450 20 1 » T54 IMP: -5 EW:-3 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 5CXE-2 -300 Mean: 4HN4 420 8.0 1
v J765 3NW-3 -300 110  3NW-3 300 50 1 v QJ852 4HN-150 60 5CXE-2 300 60 1
+ QJ94 Dif: 390 NS:5 3CE-2 200 30 1 ¢ T82 Dif: -350 NS:-3 3HS3 140 20 1
& A92 IMP: 9 EW:5 2NE-2 200 30 1 & A IMP: -8 EW:-6 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

8 NS: HE& HRZREGH0) -13 1 3 NS: S51E #EH(BAC) 12 2.50 17.50 | Total VP: 12.50 Rank:
EW: BEZE #HHSBEEIC) -12 EW: EEM ik 751E(FO) 13 IMP:| 0 25 14
__ - -
# 17 T 3NS-2 -100 Mean: 3NS4 430 80 1 |[# 18 s J9 3SXE-1 100 Mean: 3HS3 140 40 1
v 632 2NS2120 80  4DN4 130 2.0 1 v 96 3SE-2100 10  3HN3 140 40 1
¢ T6432 Dif: -220 NS:-5 2DN4 130 2.0 1 + AQJ5 Dif: 0 NS:3 4SE-2 100 30 1
& AJT7 IMP: -6 EW:-1 3SW-2 100 1.0 2 & AK943 IMP: 0 EW:-3 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1|IN 22 3 ~~ » QJ8B754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS6 480 Mean: 4SXE-2 500 50 1 ||#20 » 854 2NS3 150 Mean: 3NS4 630 9.0 2
v A9 4SXE-2 500 300  4HS6 480 50 3 v KQT5 2DW-2 200 260 3NS3 600 8.0 1
« AT9872 Dif: -20 NS:5 4HS5 450 40 5 ¢ T83 Dif: -50 NS:-3 4DW-4 400 40 1
& K762 IMP: -1 EW:-5 5CS5 400 30 1 & AK2 IMP: -2 EW:2 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE6 -480 Mean: 5SE-1 50 100 1 # 22 & AT973 4SS-1 -50 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 4SS-1-50 20  3SS3 140 30 1
+ A53 Dif: -30 NS:-3 4SE4 420 1.0 2 + AT4 Dif: 0 NS:-2 3SN3 140 30 3
» J52 IMP: -1 EW:2 5SE5 450 20 1 » T54 IMP: 0 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 -90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HS-1-50 Mean: 4HN4 420 8.0 1
v J765 3NE-4400 110  3NW-3 300 50 1 v QJ852 3HN3 140 60 5CXE-2 300 60 1
+ QJ94 Dif: -490 NS:-5 3CE-2 200 30 1 ¢ T82 Dif: -190 NS:-3 3HS3 140 20 1
& A92 IMP: -10 EW:-7 2NE-2 200 30 1 & A IMP: -5 EW:-2 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




3 122 ¥~ & >FHERE 2B E == R3 3

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

9 NS: ¥igk = BREIEEAC) -2 5 NS: i2E27 FRES5(H0) 1 ;| 8.73 : 11.27| Total VP: 26.02 Rank:
EW: 872 BEESFEE0) -1 EW: [REHE =imt(BAC) 2 IMP:| 15 : 18 10
__ . -
# 17 T 2SW2 110 Mean: 3NS4 430 80 1 |[# 18 s J9 3HS3 -140 Mean: 3HS3 140 40 1
v 632 2HW2 110 80  4DN4 130 2.0 1 v 96 3SE-1-50 10  3HN3 140 40 1
¢ T6432 Dif: 0 NS:-5 2DN4 130 2.0 1 + AQJ5 Dif: -90 NS:1 4SE-2 100 30 1
& AJT7 IMP: 0 EW:5 3SW-2 100 1.0 2 & AK943 IMP: -3 EW:-4 3SXE-1 100 30 1
- J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v9 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS5 -450 Mean: 4SXE-2 500 50 1 ||#20 » 854 2NS4 -180 Mean: 3NS4 630 9.0 2
v A9 4HS5 -450 300  4HS6 480 50 3 v KQT5 2DW-2 -200 260  3NS3 600 8.0 1
« AT9872 Dif: 0 NS:4 4HS5 450 40 5 ¢ T83 Dif: 20 NS:-2 4DW-4 400 40 1
& K762 IMP: 0 EW:-4 5CS5 400 30 1 & AK2 IMP:1 EW:2 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
v 62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 3SE3 140 Mean: 5SE-1 50 100 1 # 22 & AT973 3SS3 -140 Mean: 3SS4 170 40 1
v K954 4SE6 480 -390 3SE3 140 6.0 1 v 84 4CW4 130 20  3SS3 140 30 1
+ A53 Dif: -340 NS:-3 4SE4 420 1.0 2 + AT4 Dif: -270 NS:-4 3SN3 140 30 3
» J52 IMP: -8 EW:-6 5SE5 450 20 1 » T54 IMP: -7 EW:-3 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 ||a 2 # 64 488-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
&4 » AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HXS-1 100 Mean: 4HN4 420 8.0 1
v J765 3NE-4-400 110  3NW-3 300 50 1 v QJ852 4CE-1-50 60 5CXE-2 300 60 1
+ QJ94 Dif: 490 NS:7 3CE-2 200 30 1 ¢ T82 Dif: 150 NS:0 3HS3 140 20 1
& A92 IMP: 10 EW:5 2NE-2 200 30 1 & A IMP: 4 EW:4 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 9 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
*J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 O NS: B8E B5A{—(BH0) 9 12 NS: #B{E3E #FER(EAC) 4 | 11.27 . 8.73 Total VP: 33.02 Rank:
EW: =885 BEEFA(EAC) -4 EW: ZZ5Ei8 €I3%7K(BAO) -9 IMP:| 22 19 5
__ - o
# 17 T 3NS-1-50 Mean: 3NS4 430 80 1 |[# 18 s J9 3SE-1 50 Mean: 3HS3 140 40 1
v 632 4DN4 130 80  4DN4 130 2.0 1 v 96 3HN3140 10  3HN3 140 40 1
¢ T6432 Dif: -180 NS:-4 2DN4 130 2.0 1 + AQJ5 Dif: -90 NS:1 4SE-2 100 30 1
& AJT7 IMP: -5 EW:-2 3SW-2 100 1.0 2 & AK943 IMP: -3 EW:-4 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 3SE-1 100 Mean: 4SXE-2 500 50 1 ||#20 » 854 3NS3 600 Mean: 3NS4 630 9.0 2
v A9 4HS5450 300 4HS6 480 50 3 v KQT5 3NS-2-200 260 3NS3 600 8.0 1
+ AT9872 Dif: -350 NS:-5 4HS5 450 40 5 ¢ T83 Dif: 800 NS:8 4DW-4 400 40 1
& K762 IMP: -8 EW:-4 5CS5 400 30 1 & AK2 IMP: 13 EW:10 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 5SE5 -450 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 140 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 2SS3140 20  3SS3 140 30 1
+ A53 Dif: 0 NS:-2 4SE4 420 1.0 2 + AT4 Dif: 0 NS:3 3SN3 140 30 3
» J52 IMP: 0 EW:2 5SE5 450 20 1 » T54 IMP: 0 EW:-3 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 1NE-1 100 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HN4 420 Mean: 4HN4 420 8.0 1
v J765 2NE-2200 110  3NW-3 300 50 1 v QJ852 4CE-150 60 5CXE-2 300 60 1
+ QJ94 Dif: -100 NS:0 3CE-2 200 30 1 ¢ T82 Dif: 370 NS:8 3HS3 140 20 1
& A92 IMP: -3 EW:-3 2NE-2 200 30 1 & A IMP: 9 EW:0 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 1 NS: BRZEE #EEGH0) 3 14 NS: BREEZ BIFHE(BAC) - 11 13.78 : 6.22 Total VP: 51.28 Rank:
EW: # T BEEEEEAC) 15 EW: 5H#HE ZHE(BO) -3| IMP:| 25 15 1
__ - o
# 17 T 1NS2 120 Mean: 3NS4 430 80 1 |[# 18 s J9 4HXS-1-200 Mean: 3HS3 140 40 1
v 632 2DN4 130 80  4DN4 130 2.0 1 v 96 4HS-1-100 10  3HN3 140 40 1
¢ T6432 Dif: -10 NS:1 2DN4 130 2.0 1 + AQJ5 Dif: -100 NS:-5 4SE-2 100 30 1
& AJT7 IMP: 0 EW:-2 3SW-2 100 1.0 2 & AK943 IMP: -3 EW:3 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 3SXE3 -730 Mean: 4SXE-2 500 50 1 ||#20 » 854 4DW-4 400 Mean: 3NS4 630 9.0 2
v A9 6CN-1-50 300 4HS6 480 50 3 v KQT5 2DW-2 200 260 3NS3 600 8.0 1
+ AT9872 Dif: -680 NS:-14 4HS5 450 40 5 ¢ T83 Dif: 200 NS:4 4DW-4 400 40 1
& K762 IMP: -12 EW:8 5CS5 400 30 1 & AK2 IMP: 5 EW:2 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 5SE-1 50 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 140 Mean: 3SS4 170 40 1
v K954 4SE5 -450 -390 3SE3 140 6.0 1 v 84 4SS-1-50 20  3SS3 140 30 1
+ A53 Dif: 500 NS:10 4SE4 420 1.0 2 + AT4 Dif: 190 NS:3 3SN3 140 30 3
» J52 IMP: 11 EW:2 5SE5 450 20 1 » T54 IMP: 5 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2HW-2 200 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 2NE-2100 Mean: 4HN4 420 8.0 1
v J765 1NE-2200 110  3NW-3 300 50 1 v QJ852 4HS-1-50 60 5CXE-2 300 60 1
+ QJ94 Dif: 0 NS:3 3CE-2 200 30 1 ¢ T82 Dif: 150 NS:1  3HS3 140 20 1
& A92 IMP: 0 EW:-3 2NE-2 200 30 1 & A IMP: 4 EW:3 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 2 NS: f3{FE #HEFEC) 4 10 NS: REE R5h{Z(F0) 9 8.73 11.27 | Total VP: 26.73 Rank:
EW: ZEREJR EE/KEBEEO) 9 EW: RE&i0 BREAH(BAC) -4 IMP:| 19 22 8
__ - —
# 17 T 3NS-150 Mean: 3NS4 430 80 1 |[# 18 s J9 3SE-1-50 Mean: 3HS3 140 40 1
v 632 4DN4 -130 80  4DN4 130 2.0 1 v 96 3HN3-140 10  3HN3 140 40 1
¢ T6432 Dif: 180 NS:2 2DN4 130 2.0 1 + AQJ5 Dif: 90 NS:4 4SE-2 100 30 1
& AJT7 IMP: 5 EW:4 3SW-2 100 1.0 2 & AK943 IMP: 3 EW:-1  3SXE-1 100 30 1
» J9764 f #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1 ||N 22 3 ~~ & QJ8754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 3SE-1-100 Mean: 4SXE-2 500 50 1 ||#20 » 854 3NS3 -600 Mean: 3NS4 630 9.0 2
v A9 4HS5 -450 300  4HS6 480 50 3 v KQT5 3NS-2200 260 3NS3 600 8.0 1
+ AT9872 Dif: 350 NS:4 4HS5 450 40 5 ¢ T83 Dif: -800 NS:-10 4DW-4 400 40 1
& K762 IMP: 8 EW:5 5CS5 400 30 1 & AK2 IMP: -13 EW:-8 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 5SE5 450 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 -140 Mean: 3SS4 170 40 1
v K954 4SE5450 -390 3SE3 140 6.0 1 v 84 2SS3-140 20  3SS3 140 30 1
+ A53 Dif: 0 NS:-2 4SE4 420 1.0 2 + AT4 Dif: 0 NS:3 3SN3 140 30 3
» J52 IMP: 0 EW:2 5SE5 450 20 1 » T54 IMP: 0 EW:-3 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 1NE-1 -100 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HN4 -420 Mean: 4HN4 420 8.0 1
v J765 2NE-2-200 110  3NW-3 300 50 1 v QJ852 4CE-1-50 60 5CXE-2 300 60 1
+ QJ94 Dif: 100 NS:3  3CE-2 200 30 1 ¢ T82 Dif: -370 NS:0 3HS3 140 20 1
& A92 IMP: 3 EW:0 2NE-2 200 30 1 & A IMP: -9 EW:-8 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 3 NS: =S HFEBEERC) 12 8 NS: HBEE £ERA(BIO) -13 17.50 : 2.50 | Total VP: 45.63 Rank:
EW: E&HH 2k J51EEFH0) 13 EW: ¥E2E #RE(BC) 1 IMP:} 25 : 0 2
__ - —
# 17 T 3NS-2 100 Mean: 3NS4 430 80 1 |[# 18 s J9 3SXE-1-100 Mean: 3HS3 140 40 1
v 632 2NS2-120 80  4DN4 130 2.0 1 v 96 3SE-2-100 10  3HN3 140 40 1
¢ T6432 Dif: 220 NS:1 2DN4 130 2.0 1 + AQJ5 Dif: 0 NS:3 4SE-2 100 30 1
& AJT7 IMP: 6 EW:5 3SW-2 100 1.0 2 & AK943 IMP: 0 EW:-3 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1|IN 22 3 ~~ » QJ8B754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS6 -480 Mean: 4SXE-2 500 50 1 ||#20 » 854 2NS3 -150 Mean: 3NS4 630 9.0 2
v A9 4SXE-2 -500 300  4HS6 480 50 3 v KQT5 2DW-2 -200 260  3NS3 600 8.0 1
« AT9872 Dif: 20 NS:5 4HS5 450 40 5 ¢ T83 Dif: 50 NS:-2 4DW-4 400 40 1
& K762 IMP: 1 EW:-5 5CS5 400 30 1 & AK2 IMP: 2 EW:3 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE6 480 Mean: 5SE-1 50 100 1 # 22 & AT973 4SS-1 50 Mean: 3SS4 170 40 1
v K954 4SE5 450 -390  3SE3 140 6.0 1 v 84 4SS-150 20  3SS3 140 30 1
+ A53 Dif: 30 NS:-2 4SE4 420 1.0 2 + AT4 Dif: 0 NS:-2 3SN3 140 30 3
» J52 IMP: 1 EW:3 5SE5 450 20 1 » T54 IMP: 0 EW:2 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 90 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 4HS-1 50 Mean: 4HN4 420 8.0 1
v J765 3NE-4-400 110  3NW-3 300 50 1 v QJ852 3HN3 -140 60 5CXE-2 300 60 1
+ QJ94 Dif: 490 NS:7 3CE-2 200 30 1 ¢ T82 Dif: 190 NS:2 3HS3 140 20 1
& A92 IMP: 10 EW:5 2NE-2 200 30 1 & A IMP: 5 EW:3 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112 F< 4 >2FMpERF R

® ==> RJ

#1: 11 BB > 52(51.28) #2: 13 JEH 45, 63) #3: 23%1%7:(35 54)

1 4 NS: B2z FEEREEAC) -15 11 NS: BRZEE FIEB(FH0) 3 6.22 13.78 | Total VP: 19.05 Rank:
EW: BN =EZEEH0) -3 EW: #F 1 BREE(BAC) 15 IMP:| 15 25 13
__ -
# 17 T 1NS2 -120 Mean: 3NS4 430 80 1 |[# 18 s J9 4HXS-1 200 Mean: 3HS3 140 40 1
v 632 2DN4 -130 80  4DN4 130 2.0 1 v 96 4HS-1100 10  3HN3 140 40 1
¢ T6432 Dif: 10 NS:2 2DN4 130 2.0 1 + AQJ5 Dif: 100 NS:-3 4SE-2 100 30 1
& AJT7 IMP: 0 EW:-1  3SW-2 100 1.0 2 & AK943 IMP: 3 EW:5 3SXE-1 100 30 1
» J9764 #» K853 2NS2 120 1.0 2 ||a QT73 # K8654 3SE-2 100 30 1
v 94 v KJT7 1NS2 120 1.0 3 [|w 32 I v AKT 3SE-1 50 1.0 5
* Q9 + K85 3NS-1 50 40 1 [|e T987 * K3 4HS-1 4100 -3.0 1
& 9853 » K4 3NS-2 100 -50 1 ||a Q87 » JT6 3SE3 140 40 1
®+VASN 4 AQ2 2SW2 110 50 1 FOVAN 4, A2 1NE2 120 40 1
N 453 ~2 vAQ85 2HW2 110 50 1|IN 22 3 ~~ » QJ8B754 4HXS-1 200 -5.0 1
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 3SXE3 730 Mean: 4SXE-2 500 50 1 ||#20 » 854 4DW-4 -400 Mean: 3NS4 630 9.0 2
v A9 6CN-150 300 4HS6 480 50 3 v KQT5 2DW-2 -200 260  3NS3 600 8.0 1
+ AT9872 Dif: 680 NS:-8 4HS5 450 40 5 ¢ T83 Dif: -200 NS:-2 4DW-4 400 4.0 1
& K762 IMP: 12 EW:14 5CS5 400 30 1 & AK2 IMP: -5 EW:-4 2DW-3 300 1.0 1
s T74 ~ AKQ8653 4HS4 420 30 1 » KT962 2NS4 180 2.0 1
62 v T83 3SE-1 100 -50 1 _|_ v 862 2DW-2 200 20 3
+ KJ654 *3 6CN-1 50 80 1 *5 2NS3 150 3.0 1
& Q84 s J5 3SXE3 730 <140 1 » 9853 2HN3 140 3.0 1
®OVAN ,J2 a AJ7 2HN2 110 4.0 2
N 535~ ~ v KQJ754 v J93 3NS-2 200 100 1
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 5SE-1-50 Mean: 5SE-1 50 100 1 # 22 & AT973 3SN3 -140 Mean: 3SS4 170 40 1
v K954 4SE5 450 -390  3SE3 140 6.0 1 v 84 4SS-150 20  3SS3 140 30 1
+ A53 Dif: -500 NS:-2 4SE4 420 1.0 2 + AT4 Dif: -190 NS:-2 3SN3 140 30 3
» J52 IMP: -11 EW:-10 5SE5 450 20 1 » T54 IMP: -5 EW:-3 2SS3 140 30 1
4 Q87 & AJ654 4SE5 450 20 6 # 64 45S-1 50 20 6
v AJ32 v T6 4SE6 480 -30 3 ||v AKJT3 — v 76 4SN-1 50 20 1
¢ KQT64 7 ¢ 532 + QJ986 4CW4 130 40 1
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2HW-2 -200 Mean: 3NE-4 400 7.0 2 ||#24 » 8543 2NE-2 -100 Mean: 4HN4 420 8.0 1
v J765 1NE-2-200 110  3NW-3 300 50 1 v QJ852 4HS-150 60 5CXE-2 300 60 1
+ QJ94 Dif: 0 NS:3 3CE-2 200 30 1 ¢ T82 Dif: -150 NS:-3 3HS3 140 20 1
& A92 IMP: 0 EW:-3 2NE-2 200 30 1 & A IMP: -4 EW:-1 3HN3 140 20 1
& K4 a AJT7 2HW-2 200 30 1 & KJ76 & Q92 5CE-2 100 1.0 1
v 98432 + v K 1NE-2 200 30 1 97 v A 2NE-2 100 1.0 1
¢ KT632 * A7 2CE-1 100 0.0 1 ||e QJ765 * K4 4CE-1 50 00 2
J S » K87653 1NE-1 100 00 1 ||aT2 » KJ87543 4HS-1 50 3.0 3
%o VAN 4 Q9865 2CE2 -90 50 3 o ¢VABN o AT 4HN-1 -50 3.0 1
N ~~~~~ v AQT 1NN-1 100 50 1||N ~~3~1 & KT643 4HXS-1 100 40 1
S ~~~~~ + 85 2CE3 110 60 1||S ~~3~1 ¢ A93 3SW3 140 50 1
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




